Osa numero

Py
=3

39001 _Alarunko

39005 _Takajalka saadettava

39002_Nostoputket etu

39003_Nostoputket taka

39007_Valiputki (ylempi)

39049_Nostinputki etu

39043_Puunnostin Sylinteri @60,50 -650

39019_Sylinterin tappi

39006_Kiiinnitys varsi

39008_Siirtotuki

39050_LUKITUSTAPPI

39052_Kuljetus asennon lukitus

96208_Neulasokka

39021_Valiputken akseli

96211Lukitusmutteri DIN 985 M14

95001_Kaélirulla

39018_Koalirullan akseli

96053Aluslaatta DIN 125 A20

96247_Saksisokka DIN 94 3,2x40

96241_Rengassokka

96111 _Kuusioruuvi DIN 931 M12x90

96110_Kuusioruuvi DIN 931 M12x70

96218Lukitusmutteri DIN 985 M12

97077_ Hydrauliletku 3000 + pkl

97076_Hydraullletku 3700 + pK

= SN = NN N NN N O O — = N = N = = =N —

”MMI\JI\)M]\J-—\._\_\._\_L.A_\._\._L—\ =
G B DN =] S|w|o|~i|o | 0| B | N = || ©| 00 | O O B WIN— =

HUOM!

Kaikki purseet ja teravat sarmét poistetaan

‘ Malerial Weight

1B | 78.00 Kg

el ey
Ce 3112008 VK [wew :
“Ptiun nostolaite 2x/1x-37 | m
Rokoohpanoyhmd ' Puunnostolaite
Eéﬁ_—ﬁ-ﬁ [ Scule. i
Replaces l 1 2 i
Splaced | A4

T
|General tolerance

! :Sheel 1 l 3

| Valimotie 1
85800 Haapajarvi
i Puh. 08-772 7300

ICd

; 39000

’Maaselan Kone OY

T Rev |



